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What should come at place of the question mark (?) in the following number series ?

1 .  8 , 12 , 30 , 105 ,? 

(A) 472.5 (B)2598.75 (C)475 (D)525 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

2 .  9 , 19 , 39 ,? , 159

(A) 84 (B)79 (C)118 (D)116 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

3 .  580 , 557 , 528 , 497 ,? 

(A) 410 (B)420 (C)440 (D)460 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

4 .  81 , 72 , 136 , 111,? 

(A) 325 (B)317 (C)327 (D)247 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

5 .  14 , 20 , 28 , 39 ,? , 74 

(A) 54 (B) 24 (C) 46 (D)58 (E)None of these
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Direction (6 to 10 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 

E04613
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Q.6 :- I. x² + 5x+ 6 = 0                             II. y2 + 3y + 2 = 0

Q.7 :- I. x² + 91 = 20x                              II.  10y² − 29y + 21 = 0

Q.8 :- I. 6x² + 13x + 5 = 0                II. 9y2 +22y +8=  0

Q.9 :- I. 5x +2y = 31                                 II.  3x + 7y  = 36

Q.10 :- I. 2x2 + 11x + 12 = 0 II. 5y2 + 27y + 10 = 0

E04613
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Directions (Q. 11-14):- Table given below shows total item in six branches of a Store  

and ratio of Pen to Copy in these branches. Study the data carefully & answer the  

following question.

नीचे दी गई तालिका एकस्टोर की छह शाखाओं में कुि आइटम लदखाती है और इन शाखाओं

में पेन से कॉपी का अनुपात। डेटा का ध्यानपूर्वक अध्ययन करें और उत्तर दें लनम्नलिखखत प्रश्न।

Cities Total item Pen : Copy

Delhi 1440 7: 11

Mumbai 1200 3: 5

Gurgaon 1800 7: 8

Meerut 1680 2: 5

Imphal 1320 5: 6

Gwalior 1600 11 : 9
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(A)77.5 (B)80 (C)85 (D)82.5 (E)87.5

Q.11 :- Total number of Pen in Gurgaon and Meerut together is what percent of the  
total number of Copy in Delhi and Gwalior together? 
गुड़गांर्और मेरठ में लमिाकर पेन की कुि संख्या, लदल्लीऔरग्वालियर में लमिाकरकॉपी की
कुि संख्या का लकतना प्रलतशत है?

Cities Total item Pen : Copy

Delhi 1440 7: 11

Mumbai 1200 3: 5

Gurgaon 1800 7: 8

Meerut 1680 2: 5

Imphal 1320 5: 6

Gwalior 1600 11 : 9
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(A)800 (B)810 (C)820 (D)830 (E)840

Q.12 :- Find the average number of Copy in Mumbai, Gurgaon and Imphal together?

मंुबई, गुड़गांर्और इंफाि में एकसाथ कॉपी कीऔसत संख्या ज्ञात कीलिए?

Cities Total item Pen : Copy

Delhi 1440 7: 11

Mumbai 1200 3: 5

Gurgaon 1800 7: 8

Meerut 1680 2: 5

Imphal 1320 5: 6

Gwalior 1600 11 : 9
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(A)2:3 (B)4:5 (C)5: 6 (D)7: 8 (E)11: 12

Q.13 :- Find the ratio of Copy in Imphal and Gwalior together to Pen in Gurgaon and  
Meerut together? 
इम्फािऔरग्वालियर में एकसाथकॉपी का गुड़गांर् में पेन से अनुपात ज्ञात कीलिए एकसाथ
मेरठ?

Cities Total item Pen : Copy

Delhi 1440 7: 11

Mumbai 1200 3: 5

Gurgaon 1800 7: 8

Meerut 1680 2: 5

Imphal 1320 5: 6

Gwalior 1600 11 : 9

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)20 (B)15 (C)10 (D)5 (E)25

Q.14 :- In another city Lucknow , Pen are 20% more than the Pen in Gwalior while Copy 
are 10% more than Copy in Imphal. Total number of items in Lucknow is what  percent 
more than total number of officers in Meerut? दूसरे शहर िखनऊमें ग्वालियर में पेन की
तुिना में पेन 20% अलिक है िबलककॉपी इम्फाि में कॉपी से 10% अलिक हैं। िखनऊमें मदो ं
की कुि संख्या मेरठ में अलिकाररयो ंकी कुि संख्या से लकतने प्रलतशतअलिक है?

Cities Total item Pen : Copy

Delhi 1440 7: 11

Mumbai 1200 3: 5

Gurgaon 1800 7: 8

Meerut 1680 2: 5

Imphal 1320 5: 6

Gwalior 1600 11 : 9
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Directions (Q. 16-20):- Pie chart shows the percentage distribution of total fans 

manufactured by 5  different fan manufacturers (A, B, C, D & E) and table shows the 

defective fans manufactured by these 5 companies. पाई चाटव 5 लर्लिन्न प्रशंसक लनमावताओं

(ए, बी, सी, डी और ई) द्वारा लनलमवत कुि प्रशंसकों का प्रलतशत लर्तरण लदखाता है और

तालिका इन 5 कंपलनयो ं द्वारा लनलमवत दोषपूणव प्रशंसको ं को लदखाती है।

Note – Total fans manufactured by any company = Total 
(defective + non- defective) fans manufactured by that 
company. 

25%

15%

20%
10%

30%

Total fans manufactured 
= 20000

A

B

C

D

E

Company Defective fans

A 500

B 600

C 800

D 500

E 900
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(A) 3600 (B)2800 (C)2500 (D)3700 (E)3200

Q.16 :- Non – defective fans manufactured by E are how much more than  defective fans 
manufactured by A, B & C together? 
E द्वारा लनलमवत गैर-दोषपूणव पंखे, A, B और C द्वारा एक साथ लनलमवत दोषपूणव पंखे से लकतने अलिक
हैं?

25%

15%

20%
10%

30%

Total fans manufactured 
= 20000

A

B

C

D

E

Company Defective 
fans

A 500

B 600

C 800

D 500

E 900

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 160 (B)156 (C)145 (D)148 (E)154

Q.17 :- If cost of manufacturing a fan for D is Rs.100 and D wants to earn 20%  profit on 
the total cost of manufacturing and D does not sell defective fans,  then find at what price D 
should sell all the non-defective fans. यलदD के लिए एक पंखा बनाने की िागत 100 रुपये है
औरD लनमावण की कुि िागत पर 20% िाि अलिवत करना चाहता है और D खराब पंखे नही ं
बेचता है, तो ज्ञात करें लक D को सिी गैर-दोषपूणव प्रशंसको ंको लकसकीमत पर बेचना चालहए।

25%

15%

20%
10%

30%

Total fans manufactured 
= 20000

A

B

C

D

E

Company Defective 
fans

A 500

B 600

C 800

D 500

E 900
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(A)144 (B)150 (C)180 (D)162 (E)200

Q.18 :- Find the central angle (in degrees) of total fans manufactured by A & C  together.

A और C द्वारा लमिाकर बनाए गए कुि पंखो ंका कें द्रीय कोण (लडग्री में) ज्ञात कीलिए।

25%

15%

20%
10%

30%

Total fans manufactured 
= 20000

A

B

C

D

E

Company Defective 
fans

A 500

B 600

C 800

D 500

E 900
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(A)5200 (B)4600 (C)4800 (D)5400 (E)5000

Q.19 :- If E also manufactures coolers and ratio of fans to coolers  manufactured by E is 5 : 
7, then find coolers manufactured by E are how  much more than non-defective fans 
manufactured by C?
यलद E िी कूिर का लनमावण करता है और E द्वारा लनलमवत कूिर से पंखे का अनुपात 5:7 है, तो
ज्ञात कीलिए लक E द्वारा लनलमवत कूिर, C द्वारा लनलमवत गैर-दोषपूणव पंखो ं से लकतने अलिक हैं?

25%

15%

20%
10%

30%

Total fans manufactured 
= 20000

A

B

C

D

E

Company Defective 
fans

A 500

B 600

C 800

D 500

E 900
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(A)7:13 (B)2:7 (C)1:4 (D)5:11 (E) 3:8

Q.20 :- Find ratio of defective fans manufactured by E to non-defective fans  manufactured 
by B. 
E द्वारा लनलमवत दोषपूणव पंखो ंका B द्वारा लनलमवत गैर-दोषपूणव पंखो ं से अनुपात ज्ञात कीलिए।

25%

15%

20%
10%

30%

Total fans manufactured 
= 20000

A

B

C

D

E

Company Defective 
fans

A 500

B 600

C 800

D 500

E 900
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Directions (Q. 21-25):- Total 150 employees in four different departments, i.e.

Management, HR, Sells, Operation of a company. Total employees in HR are 33 1/3%

of total employees in the company and ratio of total employees in Management to Sells

is 1 : 3. Total employees in Operation are 20% less than that of in HR.

चार अिग-अिग लर्िागो ं में कुि 150 कमवचारी, यानी प्रबंिन, मानर् संसािन, लबक्री, एक

कंपनी का संचािन मानर् संसािन में कुि कमवचारी 33 1/3% हैं कंपनी में कुि कमवचाररयो ं

का और प्रबंिन में कुि कमवचाररयो ं का लबक्री से अनुपात 1:3 है संचािन में कुि कमवचारी

एचआर से 20% कम हैं।
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Directions (Q. 21-25):-Total 150 employees in four different departments, i.e. Management, HR,

Sells, Operation of a company. Total employees in HR are 33 1/3% of total employees in the company

and ratio of total employees in Management to Sells is 1 : 3. Total employees in Operation are 20% less

than that of in HR.
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(A)35 (B)45 (C)25 (D)15 (E)5

Q.21 :-Find difference between total employee in HR and Management?

मानर् संसािनऔर प्रबंिन में कुि कमवचारी के बीच अंतर ज्ञात कीलिए?
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(A)57.5% (B)60.5% (C)62.5% (D)50% (E)55%

Q.22 :- Total employee in Management are what percent less than that of in  Operation?

प्रबंिन में कुि कमवचारी, संचािन से लकतने प्रलतशतकम हैं?
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(A)40 (B)30 (C) 60 (D)80 (E)50

Q.22 :- If ratio of male to female in Operation is 5 : 3, then find total male employees in 
Operation are what percent of total employees in HR?
यलदऑपरेशन में पुरुष से मलहिा का अनुपात 5: 3 है, तोऑपरेशन में कुि पुरुष कमवचारी
एचआर में कुि कमवचाररयो ंका लकतना प्रलतशत है?
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(A) 2:10 (B) 10:3 (C)3: 8 (D)3: 10 (E)3: 5

Q.23 :- Find ratio of total employees in Management to that of in HR?

प्रबंिन में कुि कमवचाररयो ंका मानर् संसािन से अनुपात ज्ञात कीलिए?
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(A)502 sq.cm (B)508sq.cm (C)510 sq.cm (D)512 sq.cm (E)None of these

Q.11 :- Perimeter of a square is equal to perimeter of a rectangle, if area of  square is 576 
sq.cm and length of rectangle is two times that of breath. Find  the area of rectangle?
एक र्गव का पररमाप एकआयत के पररमाप के बराबर है, यलद र्गव का के्षत्रफि 576 र्गव सेमी है
औरआयतकी िंबाई सांस की िंबाई की दुगुनी है। आयतका के्षत्रफि ज्ञात कीलिए?
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(A)44 (B)352 (C)308 (D)392 (E)2816

Q.12 :- A cylinder having height 196 cm radius 14 cm is casted into ‘x’ number  of cubes 
having side 7 cm. Find the value of ‘x’. 
एक बेिन लिसकी ऊँचाई 196 सेमी लत्रज्या 14 सेमी है, को 7 सेमी िुिा र्ािे घनो ं की संख्या 'x' 
में ढािा गया है। एक्सका मान ज्ञात करें '।
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(A)2/31 (B)2/33 (C)1/22 (D)3/22 (E)4/11

Q.13 :- There are 4 red balls, 5 blue balls and 3 green balls in a jar. 2 balls are  drawn at 
random. Find the probability that both are either green or red.
एकिार में 4 िाि गेंदें, 5 नीिी गेंदें और 3 हरी गेंदें हैं। यादृखिकरूप से 2 गेंदें लनकािी िाती
हैं। दोनो ं के या तो हरे या िाि होने की प्रालयकता ज्ञात कीलिए।
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(A)4% loss (B)5% loss (C)5% gain (D)2.5%loss (E)2.5%gain

Q.14 :- A shopkeeper sold an article A at 20% gain and another article B at 20%  loss. Find 
her overall gain or loss percent if S.P. of both articles were same ?
एक दुकानदार ने एक र्सु्त A को 20% िाि परऔर दूसरी र्सु्त B को 20% हालन पर बेचा, यलद
दोनो ं र्सु्तओं का लर्क्रय मूल्यसमान था, तो उसका कुि िाि या हालन प्रलतशत ज्ञात कीलिए?
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(A)65 4/9 (B)67 4/9 (C)66 4/9 (D)66 (E)67

Q.15 :- X, Y and Z can do a piece of work in 90 days, 40 days and 120 days  respectively. If 
all three works alternatively each day starting with X , Y  than Z respectively. Find the total 
time in which work will be completed? X, Y और Z एककायव को क्रमशः 90 लदन, 40 लदनऔर
120 लदन में पूरा कर सकते हैं। यलद तीनो ं क्रमशः Z की तुिना में X , Y से शुरू होकर प्रते्यक लदन
रै्कखिकरूप से कायव करते हैं। कुि समय ज्ञात कीलिए लक लकसकायव को पूरा लकया िाएगा?
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(A)21sec (B)21.6sec (C)26.1 sec (D)26sec (E)16sec

Q.31 :-Train A is 180 meter long, while another train B is 240 meter long.  Train A has a 
speed of 30 kmph and train B’s speed is 40 kmph, if the trains  move in opposite directions, 
then in what time will Train A pass Train B  completely? 
टर ेन A 180 मीटर िंबी है, िबलक दूसरी टर ेन B 240 मीटर िंबी है। टर ेन A की गलत 30 लकमी प्रलत घंटा है और टर ेन B की
गलत 40 लकमी प्रलत घंटे है, यलद टर ेनें लर्परीत लदशाओं में चिती हैं, तो टर ेन A लकतने समय में टर ेन B को पूरी तरह से पार
कर िेगी?
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(A)20225 (B) 22125 (C)25225 (D)25125 (E)23125

Q.32 :- A, B and C invested in a business in the ratio 6 : 8 : 9. If B invested for a  period 
whose numerical value is 112.5% of B’s investment but A and C  invested for one year. If 
profit of B at the end of year is 16750 then what is the share of profit of C. A, B और C ने एक
व्यर्साय में 6:8:9 के अनुपात में लनरे्श लकया। यलद B ने उस अर्लि के लिए लनरे्श लकया लिसका
संख्यात्मक मान B के लनरे्श का 112.5% है िेलकन A और C ने एक र्षव के लिए लनरे्श लकया है।
यलद र्षव के अंत में B का िाि 16750 है, तो C के िािका लहस्साक्या है?
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(A) 3: 5 (B)2:3 (C)5:2 (D)1:2 (E)3:7

Q.33 :- Two vessel A and B contain mixture of milk and water. Ratio of milk and  water in 
vessel A and B are in ratio 1 : 2 and 3 : 2 respectively. In what ratio  these two mixtures 
should be mixed so that new mixture contains 50%  milk and 50% water. 
दो बतवन A और B में दूिऔर पानी का लमश्रण है। बतवन A और B में दूिऔर पानी का अनुपात
क्रमशः 1:2 और 3:2 है. इन दोनो ं लमश्रणो ंको लकसअनुपात में लमिाया िाना चालहए लक नए
लमश्रण में 50% दूिऔर 50% पानी हो।
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(A)8.5kmph (B)7.5kmph (C)9.5kmph (D)6kmph (E)7 kmph

Q.34 :- A boat can cover 40 km upstream and 60 km downstream in 13 hour.  Also it can 
cover 50 km upstream and 72 km downstream in 16 hour. Find  the speed of boat in still 
water. 
एक नार् िारा के प्रलतकूि 40 लकमीऔर िारा के अनुकूि 60 लकमी की दूरी 13 घंटे में तय कर
सकती है। साथ ही यह 50 लकमी अपस्टरीमऔर 72 लकमी डाउनस्टरीम 16 घंटे में तय कर सकता
है। शांत िि में नार् की गलत ज्ञात कीलिए।
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(A)20 (B)40 (C)24 (D)30 (E)34

Q.35 :- 2n years ago, the age of Raju was four times that of his son and n years  ago, the age 
of Raju was thrice that of his son. If n years later, the sum of the  ages of Raju and his son 
will be 80 years, then the difference in the ages of  Raju and his son is
2n र्षव पहिे, रािू कीआयु उसके पुत्र कीआयु की चार गुना थीऔर n र्षव पहिे, रािू कीआयु
उसके पुत्र कीआयु की तीन गुना थी। यलद n र्षव बाद, रािू और उसके पुत्र कीआयु का योग 80 
र्षव होगा, तो रािू और उसके पुत्र कीआयु में अंतर है
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